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@B[2,7]-{2,7} =
(7] The coefficient of the algebraic term 5 a2 b2 fgimescitniniin

[8|The mean of 3 55 57 954 5 108 -oeveeeens
(9] The slope of any line parallel to y-axis is -
(10 The median of the values 3 57 56 59 52 is -+reeeeo:
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[a] Use the following table to find the relation between X ¥z
B (o1 ]2 ]
\ vl —1 1 3 5 J

[b] Find the S.S. of the inequality : —2 <3 X +7 < 10in R » then represent the interval

of the S.S. on the number line.

@[a] Ifx:1/i 2,y—v_ 7 ,thenfindthevalueof:XXer
i
[b] IfX:]—Z >1] 5 Y=[053[ > use the number line to find :
AxNy EIxXUY B Xx-Y

LB[a] Simplify:@ﬁﬂﬁf;»ﬁ- @W+83\E+SW

[b] Find the arithmetic mean of the following frequency distribution :

| Sets 5— | 15— | 25— | 35— | 45- | Total |
1 5 6 3 2 20 |

‘ Frequency 4
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\@ [a] Simplify to the simplest form :'\/E‘VE +1300
b1fa=15+y3 >b=15-13 ,find : a2+ 2 ab + b

@ [a] Find the S.S. in R of the inequality : 2 X + 1 <7 , then represent it on the number line.

[b] Find the volume of the sphere whose diameter length is 4.2 cm. (J‘IZ = %)

[a]LetA(2 s—1) s B (10 5 3) and C (2 5 3). Find the slope of each of:&_B) and E—é
[b] Find the arithmetic mean of the following distribution :
[ Sets 5- | 15— | 25— | 35- | 45- | Total |
‘ Frequency 4 3 6 3 2 20 ’
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\&l Choose the correct answer :

The number of axes of symmetry of the isosceles triangle equals .-

(2)3 ()2 (©1 @0
[2] The point of intersection of the medians of the triangle divides each of them in the
ratio of - from the base.
(a)2:1 ; (b)3:1 €132 @1:2
[3]AXYZ is right-angled at Y » then XZ -----veen- YZ
(@> (b) < ©= @=

(4]If 10 cm. 5 5 cm. and X cm. are side lengths of an isosceles triangle s then X = - ovvoo.-
(a) 10 )5 ()15 (d)4

[5] The measure of the exterior angle of an equilateral triangle equals ...............
(a) 30 (b) 60 (c)90 (d) 120

(6]In the opposite figure :

100
(a) 100° (b) 140° 7 X

(c) 180° (d) 280°
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_7)If ABC is an isosceles triangle sm (L A)=60° , AB=4cm.

> then its perimeter = -+ cm.
(a)4 (b) 12 y (c) 6 ()9
(8] XYZ is a triangle in whichm (£ Z)=70° » m (£Y)=60° ythen YZ «--ovcevennnee XY
(a)> ()< ©= @@=
9]In AABC 5 if m (£ B) = 90° , then the longest side is -+ ---------
(a) BC (b) AB (c) AC (d) its median.
10] A triangle has one axis of symmetry » the lengths of two sides are 4 cm. and 8 cm.
> then the length of the third side is - cm.
(@3 (®) 6 (©)4 (@8
41] The point of intersection of the medians of the triangle divides each of the medians in
the ratio - woovves from the base.
@21 ®)3:2 ©2:4 @3:4

f12) If the length of any side of a triangle = & the perimeter of the triangle > then the
3
number of axes of symmetry of the triangle equals .-

(a)3 ()1 )2 (d) zero
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{E¥ Complete the following :
(A In AABC »if m (£ B)=70° s m (£ C) =50° 5 then AC -+weennvsins AB
[(2]In AABC »if m (£ A)=m (£ B) + m (£ C) » then the longest side is «wvveeve

3] The axis of symmetry of a line segment is the straight line which ---------..-... from its midpoint.

(4] ABC is a triangle in which AB=4cm. 5 CB=7cm.
s then ACE | siciisssnss S [

5]If ‘AD is a median in A ABC > and M is the point of intersection of its medians and
AM=12cm. sthen AD = --vovvevvne




image11.png
[ 6] The bisector of the vertex angle of the isosceles triangle .- and oo

(7] In the opposite figure : N
The length of Ve R —— E

< [

C B

(8]InAABC sm (£ A)=m (£ B)=m (£ C) » then the measure of the exterior angle
equals -

(9] If the lengths of two sides of a triangle are 4 cm. » 7 cm. » then the length of the third
side belongs to ] «---evvove. e A [
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B [a] In the opposite figure :
AB =BD >m (£ BAD) = 70°

A
W
> A ADC is an equilateral triangle. A

Find : m (£ BDC) D C
[b] In the opposite figure : A
ABC is a triangle » F and E are the midpoints ‘
of AB and AC respectively. E F
IfBM=5cm. s CM =6 cm. » BC = 12 cm. }
s then find : The perimeter of A MEF ¢ T B

Ln [a] In the opposite figure : D

X
m (£ ABC) =90° A
» E is the midpoint of AC ”
and X » Y are the midpoints of DA and DC
) C

Prove that : XY = BE

[b] In the opposite figure : 7
ABCD is a square > EEBC V
S— re—— &,
where m (£ BAE) = 30° and DF L AE

sif AF =4 cm.
» calculate : The area of the square ABCD

Q
es]
w

LB [a] In the opposite figure :
m(ZA)=m (£ B)
Find : The perimeter of A ABC
[b] In the opposite figure :

ABC is a triangle in which :

AB>AC ,DEAB,EEAC

» BF bisects £ DBC » CF bisects Z BCE

»BE N CF = {F}

Prove that : (1] m (£ FBC) > m (£ BCF)
[28)CF>BF
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@ [a] In the opposite figure :

A
4
AD =BD =ED > m (£ DAB) = 40°
Prove that : }_E

[1JAD <AB [2]BC>AC

[b] In the opposite figure :
AB=AC, ﬁj bisects £ ABC
and CD bisects 2 ACB

B C
A
Prove that : A DBC is an isosceles triangle. B C

\E [a] ABC is a triangle in whichm (£ A)= (6 X)° > m (£ B)=(4Xx-9)°
sm (£ C) =3 (X -2)° Arrange the lengths of the sides of the triangle ascendingly.
[b] In the opposite figure :
AB=AC=CB=CD
Prove that : AB L AD

[a] In the opposite figure :
m (£ ABC) = 90° » X is the midpoint of AB
»>'Y is the midpoint of BC

» D is the midpoint of XY » AC =24 cm.
Find : The length of BD

[b] In the opposite figure : A \
F and N are the midpoints of ABand AC respectively

»AB=8cm. »AC =12 cm. s BM = 6 cm. / F%
22|

Find : The perimeter of the figure AFMN C B




image1.png
Answer the following questions :

D Choose the correct answer from those given :
[1]If the mode of the values 5 58 56+ X 59 is 9 s then X = -vvrvvevene
@5 (b)6 @©)3 ()8
(2] The volume of a cube is 27 cm? » then the area of one of its faces is -+

(a) 3 cm? (b) 9 cm? (¢) 36 cm? (d) 54 cm?
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B

=

>

The smallest prime number is -

(@)0 b1 (©)2 @3

If the mode of the set of values 4 5 11 s8 2 Xis4 sthen X = ---rvvevenne
(@2 (b4 (©)6 (@38

If (2 5 5) satisfies the relation 3 X +y =c sthenc = «---oeeeee

(a1 (b)—1 (c) 11 (d-11

The solution set of the equation X 249 =0inRiS rrrrerrreres

@2 ®{-3} “©f3} @{3,-3}
The lower limit of a set is 4 and the upper limit is 8 » then its centre is -+
(@)2 (b)4 (©)6 @8

4274 = oo (to the nearest %)

(a)4 (b)4.2 (c)43 (d)4.27
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(3] The slope of any line parallel to X-axis equals -

@1 (b) undefined () -1 @) %to
(4] The multiplicative inverse of 2‘6/31 --------------

@12 (b) 6 ©13 (d) zero
B QUg@=+-sn

(@) @ )0 ©R @z

(6] If (1 » 5) satisfies the relation 3 X + k y=7sthenk=-oveneeee.
@5 ()6 ()2 @7
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LE Complete the following :
A [s5] {155} =




